



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) =$$



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{3}{40}$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) = 1$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{3} = \left(-\frac{13}{48}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(\frac{3}{4}\right) - \frac{3}{5} = \frac{3}{20}$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{122}{375}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} = \left(-\frac{3}{8}\right)$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{71}{250}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{33}{125}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{2}{5}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{5} = \frac{41}{180}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{3} = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{6}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{10}\right)$$